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A finder of a lost object; — 991D 77107 777 WRMNT 7195 IND 77702N KX
is it not that since the owner despairs recovering it, etc.

OVERVIEW

727 queried whether WX is 1P by Xn»R77 79°13. The question is whether we can
compare 2> of 7771 to WX of 772X, It is evident from this X3 that ¥IX° by 77°a8
1s XX 71p. It belongs to the finder if the owner is WX (before he found it).
Moo will discuss the origin of this ruling that 77°2R2 WX 1S XNIRTA A1P.

- AN NP YINYT )Y NPOYT PNHYY 13529 1IN
The >''9 says that we derive the rule that @R acquires the lost object for the
finder -

= (oW §,19 97 Nyn 822) SININM 1IN 99INRT NN
From that which the 71wn states in NIXYE2 Y8 2D concerning the 709 of'  AwYN 1)
NN -

- >Doy2In NY W Ppando 1Y YIY NN 1YY I
Just as a garment is unique that it has identifying markers and it has claimants -

- YN NY YW 1IN0 1Y WY 1 Yy fue
The explanation of the term '0°v2n 7% v°' is, since it has 371799, it inevitably has
2%wain -

- 1350 DDA YOV 113 PURIHN DIY¥AN PRY
for the owners do not despair, since the garments have a 3%2°0 on them. They will
pursue to retrieve their garment. We see from this 71wn that only if the item has 2°¥21n is there a
71797 211; however if there is no Py2n (for there is no 1°12°0) there is no 737727 21°n; the finder
may keep them. This proves that when there is no Py2In, for the owner is WX»nn» (since there is
no 11n°0); the finder acquires the item for himself. This proves that Xn»1X77 77°282 71p WX,

mooIn cites and rejects *"w7:
= 9PN YW NINRY PYIIN NY YOIV ‘ov 0HVNPN YAV 10D XD

And w210 7% w° does not mean as >''wA explained there, that it is not 9p27 (and

P9 (xxn) 0127. The P05 mentions a 7°nw among the various items (7w 2an W) that should be returned by the
finder to the owner. The mwn there explains what the term 777w teaches us.

2 A 79w (usually) has 1732°0 (especially in Talmudic times, when clothes were made individually [at home]).

? The nawn concludes; so too by anything that has Pa°0 and 2y n, there is a 11377 27,

* The term w1 is used to indicate that the interpretation is not as it would seem to be. According to mpoN it
appears that 1¥y2n 7% W™ 1°11°0 72 @ are one and the same qualification; however the simple meaning of the mwn is
that they are two separate requirements.

% AnRY AnY 1"72 n"22. There *"wA states that IP57A 12 DRI XYY DTX T2 KOR DMWY KDWY MK PYN 20092 79 w0 790w 990,
The following 1"v21n " ww 9 AR 7"7 "W states WRMT 772 1V TN “wwn. See 1"7 M RN,

1

TosfosInEnglish.com



XX 17"7 '0I0 R0 P"2.7"02

*"w1 continues to explain) -
= NI DTN Y7192 NYYIN 93T NONVY

For a n»w is an object that is man made (and is therefore [presumably] not 7p5:). This
concludes *"wp there.’

mooIn rejects this w1o:’
- DY MNTT NV PN JYT RVIVS INY XIP Y Db NN

For why do I need a o2 for this; it is obvious that for an article of 2277, one is
7wp from announcing it, for to whom will he return it?!

nooIN asks:
= NN»IINT IND 123300 9‘1)2N‘l ]N):b scm 19%24Y nup

And the n''1 has a difficulty (with the °"7 v17"9); according to the one who

maintains that the proof of 1°12%0 is not acceptable 7791077 3%; it is insufficient proof.
The acceptance of 111°0 as proof is merely a 221 NP -

- 1350 12 PRV 1272 12 11200 12 YOV 93273 13 )9 ON
If this is indeed so (that Xn>7I87 W7 1°11°0) then whether the article has a 32 or

whether the article has no 3%%9; in either case -
- %9y 295 Sy XN NN I DYYAY NN PN

According to 7m0 law we do not return any article to the owners, unless they

produce 2%7¥ that the article is theirs.
= 13°0 12 VIV 92919 UN»HN 70 11])3’7 12 PNRY 92910 UNHN NI

And if we assume that the owner is WX n» from something which has no %%,

he will equally be wx»n» from something that has a 32 -
- Pasyh nan 95tns XY 19 o8 P01 215 5Y KIN DIY¥aY 95t PN N DT

6 According to *"w that Py 7% w° means that it is not 797, there is no proof from the m1wn that 1P YR
Xn>>RT. The reason there is no 7127 211 if PY2IN 72 PRI 1120 1772 1°X is because there is no point in the 71737, If PR
11m°0 712 he will not be able to identify it and if it is 797 there is no one to return it to. However according to the *"9,
the reason there is no 117127 21’1 is because PyaIN 77 PR (the fact that 111°0 7% PR is [merely] the cause why 17 X
1v2n). This proves that p"17 7P WX

7 According to *"wn when the 1wn states 1yIn 72 W it is excluding an object of 7p57 from the requirement of
announcing it in order to find its owner.

® The >"1 maintains that the word 797w teaches us that by an article with 732°0 (which therefore has 2°v21n) you are
173777 2»n. However, an article without 13°0 you are not 115777 21 (for it has no 2°v21n).

9 %,70 n"2. The x7»3 there queries whether 1°32°0 are Xn™ K7 or not. One of the differences would be whether we may
return a WX v3 (to the M5w who is bringing it) with a 12°0. If Xn»7I8T WK 1°11°0 we will not return it to the m>bw. If we
assume XN*7IRT WY 1712°0 the lost article is announced and the claimant receives it (Xn*>R7») [only] if he can bring
o7y that it is his.

' The o7y testify that they recognize 1"y ny>av3a that this article belongs to the claimant.

" He has no hope of retrieving it since he has no 12°0 by which to identify it. This is what the 73w» means when it
states Y20 7% 7RI Pand0 117 PX.
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For in either case (whether or not there is a j2°0) it is not returned to the owners
unless there are 2°7v, and if that is so (that he is always wX>nn), then no lost
article should ever be returned. nooin asks that whether or not there are 7m0 the

prospect of x> is the same. He is either always wX>»nn if he has no 2>7y; or he is never wX>»nn if
he has 0°7v. What does 1772 teach us?!

N1B0IN answers:
- ©57Y3 ON 53 9511 PRI NNMNINT IND 13507 23 Y GNT XM

And the n"7 answered; that even though a 3%°0 is not valid 771077 32 and articles

are not returned unless there are 2°7¥ -
- %4990 93 WY 9291 YNMNN PPN DIPNA YN

Nevertheless a person is not WX n» if the article has a 3120 -
- 131250 791 7912 7AW SNTANY SHY Y0 DNNT D1N 5339 HNIVY
For he asks people ‘did you see my n°»u which I lost that had these and these
P19’ -
= O DY NISNY 920 PN DINYD N0 Y19 PRY YUNINN 123900 Ha PRYI YaN
However, if there are no %1720 then he is wX»n» for he does not know what to
ask and he cannot imagine that he will ever find 2°7y.

nooIn asks:
- Yonn »vY pnvt 1n ¥y ox mxn ox

And if you will say; if the aforementioned is indeed so, then why did the X n2
there force itself to answer, that -

= N2D) 279 123100 RNIINT IND 1231950 9INT INNDD
according to the Xn»=IX7 XY a0 7''n, the Mw»n mentions 37320 for naught

(there is no purpose in mentioning °1°0 since XNIRT IR? P32 D) -
- 19910 19 W 79 575 HYT 9919 NYN N0 VD3 KT 9129109 XN N

2 9vnn 1 there is no advantage if the article has 1°1°0 (for the 71°12°0 are useless); we return an 777°2X only through
o°7v. How can 739nw teach us that an article with 7713°0 has 7y21n?! Just as an article without 7°1°0 has no Pyain,
similarly an article with 11°2°0 also has no Pyain.

3 We cannot claim that there is always a 1111277 21 (even if 1m0 72 PX) for the person is not WX nn, since he may
have o>7v; for if so, we do not need the 105 of 19nWw. See X"wWA.

' He is not wx»nn even if he is not certain that he has 0*7v.

' He does not despair, for if he can identify the lost article with 1°12°0 he may find 2>7v who will testify that it is his.
As long he is not wX>nn, there is a 717277 21°77.

16 The 11n°0 are the cause that he should not be wX»nn and it will be considered as v 1% w°.

17 The X m3 there asked according to the Xn»X7 R P12°0 7"1, how can the nm1wn state that the word 777w teaches us
that the lost article requires 7°32°0, when there is no such concept as 77107 12 1°11°0.

'8 Even if 77310 IS RN*IRT R?; the 1377 21°0 is only if there is 1°11°0; for otherwise he will be wR>nn.

3

TosfosInEnglish.com



XX 17"7 '0I0 R0 P"2.7"02

but we can answer that he only mentions %1250 in the 71w» in order to tell us
that through the 112°0 it will have 1520 (as the 0" just finished explaining).

MooIN answers:
= 0999117 Y93 15 NP1 KD NNIINT 1231207 IND INT 99D U»

And one can say; that if °12°0 are not Xn>»mR7 the 71wn» should not have

mentioned them at all -
= ©YIN NY YIY NTNIN AYNY NN XIN 291V 91991Y 19 NYH XYY

And the 71wn should not have said anything extra, it should only have said ‘just

as a 77o»w is unique that it has 2°¥21n (and not mention 112°0)’
NN DN DIVNIT )IIVT N9

And it would be self-understood that the reason it has 2°v21n is on account of
the 291799 (for if there is no 0°11°0 the owner is WX*>N7).

SUMMARY

We derive that i1p wXY (by 77°2K) from the 7awn of 79w which states that the 21n
7717277 1s only if there are 1¥20; otherwise if there are no °v21N, on account of YN,
the finder acquires it. According to the Xn>7RT K> PI°0 7"n, nevertheless there is
no WX if there are 717°0.

THINKING IT OVER
According to the "1 [if we maintain Rn*»9IXT PI°0], what is the main 7% from
nonw; that it requires 1320, or that it requires 1°¥2n (or both)?
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